Erie Thames Powerlines Corporation EB-2013-0126

Board Staff Interrogatories

RTSR Model

Interrogatory #1 Ref: RTSR Model, Tab 4 – "RRR Data"

Rate Class	Unit	Non-Loss Adjusted Metered kWh	Non-Loss Adjusted Metered kW	Applicable Loss Factor	Load Factor	Loss Adjusted Billed kWh	Billed kW
Residential	kWh	136,249,083		1.0451		142,393,917	-
General Service Less Than 50 kW	kWh	47,118,034		1.0451		49,243,057	-
General Service 50 to 999 kW	kW	99,749,528	384,201		35.59%	99,749,528	384,201
General Service 1,000 to 4,999 kW	kW	88,667,361	163,342		74.40%	88,667,361	163,342
Large Use	kW	94,151,552	160,480		80.41%	94,151,552	160,480
Unmetered Scattered Load	kWh	533,333		1.0451		557,386	-
Sentinel Lighting	kW	265,790	266		136.95%	265,790	266
Street Lighting	kW	3,535,186	9,886		49.01%	3,535,186	9,886
Embedded Distributor	kW	16,597,987	35,998		63.20%	16,597,987	35,998

Please confirm that the data entered in columns "Non-Loss Adjusted Metered kWh" and "Non-Loss Adjusted Metered kW" is not adjusted by Erie Thames Powerlines' Board approved loss factor.

Interrogatory #2 Ref: RTSR Model, Tab 6 – "Historical Wholesale"

IESO	Network			Line	ne Connection			Transformation Connection				Тс	otal Line	
Month	Units Billed	Rate	А	mount	Units Billed	Rate	A	mount	Units Billed	Rate	A	mount	Α	mount
January	9,342	\$3.22	\$	30,081	8,973	\$0.79	\$	7,089	9,312	\$1.77	\$	16,481	\$	23,570
February	8,651	\$3.22	\$	27,857	8,735	\$0.79	\$	6,901	9,065	\$1.77	\$	16,044	\$	22,945
March	8,833	\$3.22	\$	28,442	8,465	\$0.79	\$	6,687	8,784	\$1.77	\$	15,548	\$	22,235
April	7,713	\$3.22	\$	24,836	7,893	\$0.79	\$	6,235	8,190	\$1.77	\$	14,497	\$	20,732
May	19,316	\$3.22	\$	62,197	17,643	\$0.79	\$	13,938	18,308	\$1.77	\$	32,405	\$	46,343
June	22,358	\$3.22	\$	71,993	20,421	\$0.79	\$	16,133	21,191	\$1.77	\$	37,509	\$	53,642
July	11,828	\$3.22	\$	38,085	10,860	\$0.79	\$	8,579	11,269	\$1.77	\$	19,947	\$	28,526
August	10,351	\$3.22	\$	33,330	9,730	\$0.79	\$	7,686	10,097	\$1.77	\$	17,871	\$	25,557
September	10,169	\$3.22	\$	32,744	9,625	\$0.79	\$	7,604	9,988	\$1.77	\$	17,679	\$	25,283
October	8,844	\$3.22	\$	28,478	8,501	\$0.79	\$	6,716	8,822	\$1.77	\$	15,615	\$	22,331
November	9,426	\$3.22	\$	30,352	8,772	\$0.79	\$	6,930	9,102	\$1.77	\$	16,111	\$	23,041
December	9,500	\$3.22	\$	30,591	8,677	\$0.79	\$	6,855	9,005	\$1.77	\$	15,938	\$	22,794
Total	136,331 \$	3.2	2 \$	438,985	128,295	\$ 0.79	\$	101,353	133,133	\$ 1.77	\$	235,645	\$	336,998

Board staff is unable to reconcile the "Network", "Line Connection" and "Transformation Connection" rates to the effective Uniform Transmission Rates

("UTR") as found on tab 5 of the model. Board staff notes that the effective UTR's are as follows:

- Network: \$3.57/kW
- Line Connection: \$0.80/kW
- Transformation Connection: \$1.86/kW
- (A) If Erie Thames Powerlines agrees, please confirm, and Board staff will update the model with the applicable rates as seen above.
- (B) If the answer to (A) is no, please provide evidence for the rates entered by Erie Thames Powerlines.

Interrogatory #3 Ref: RTSR Model, Tab 6 – "Historical Wholesale"

Hydro One		Network			Line Connection			Transformation Connection			
Month	Units Billed	Rate	Amount	Units Billed	Rate	Amount	Units Billed	Rate	Amount	Amou	
January	70,081	\$2.65	\$ 185,715		\$0.00		70,451	\$2.03	\$ 142,848	\$ 142	
February	66,863	\$2.65	\$ 177,187		\$0.00		67,905	\$2.03	\$ 138,178	\$ 13	
March	65,272	\$2.65	\$ 172,971		\$0.00		66,753	\$2.03	\$ 135,675	\$ 13	
April	60,861	\$2.65	\$ 161,284		\$0.00		61,141	\$2.04	\$ 124,680	\$ 12	
May	71,139	\$2.65	\$ 188,518		\$0.00		71,150	\$2.04	\$ 144,844	\$ 14	
June	76,557	\$2.65	\$ 202,876		\$0.00		76,648	\$2.03	\$ 155,486	\$ 15	
July	79,325	\$2.65	\$ 210,211		\$0.00		79,466	\$2.03	\$ 161,420	\$ 16	
August	74,402	\$2.65	\$ 197,165		\$0.00		74,869	\$2.04	\$ 152,698	\$ 15	
September	82,303	\$2.60	\$ 213,823		\$0.00		81,811	\$2.07	\$ 169,056	\$ 16	
October	64,405	\$2.65	\$ 170,673		\$0.00		64,550	\$2.03	\$ 130,755	\$ 13	
November	67,858	\$2.65	\$ 179,824		\$0.00		68,086	\$2.02	\$ 137,601	\$ 13	
December	68,885	\$2.70	\$ 185,767		\$0.00		68,961	\$2.04	\$ 140,785	\$ 14	
Total	847,951 \$	5 2.6	5 \$ 2,246,014		\$ -	\$-	851,791	\$ 2.04	\$ 1,734,026	\$ 1,73	

Board staff is unable to reconcile the "Network" rate for the month of December, to the effective Hydro One Sub-Transmission rate as found on tab 5 of the model (i.e. \$2.65/kW).

- (A) If Erie Thames Powerlines agrees, please confirm, and Board staff will update the model with the applicable rate.
- (B) If the answer to (A) is no, please provide evidence for the rates entered by Erie Thames Powerlines.

Board staff also notes the varying "Transformation Connection" rates entered by Erie Thames Powerlines. Board staff notes that the effective Hydro One rate for "Transformation Connection" is \$1.50/kW.

- (C) Please provide an explanation for the rates entered in the column "Transformation Connection".
- (D) If this was input in error, please confirm and provide the correct data, and Board staff will make the necessary corrections to the model.

Tax-Sharing Model

Interrogatory #4 Ref: Tax-Sharing Model, Tab 3 - "Re-Based Bill Det & Rates"

Last COS R	e-based Year was in 2012								
Rate Group	Rate Class	Fixed Metric	Vol Metric	Re-based Billed Customers or Connections A	Re-based Billed kWh B		Rate ReBal Base Service Charge D	Rate ReBal Base Distribution Volumetric Rate kWh E	Rate ReBal Base Distribution Volumetric Rate kW F
RES	Residential	Customer	kWh	16,461	147,767,075		15.37	0.0180	
GSLT50	General Service Less Than 50 kW	Customer	kWh	1,857	50,306,768		21.18	0.0137	
GSGT50	General Service 50 to 999 kW	Customer	kW	175		227,921	121.53		2.9483
GSGT50	General Service 1,000 to 4,999 kW	Customer	kW	7		96,900	2,410.81		4.0060
LU	Large Use	Customer	kW	1		160,146	9,846.36		1.8098
USL	Unmetered Scattered Load	Connection	kWh	121	618,341		3.03	0.1086	
Sen	Sentinel Lighting	Connection	kW	301		772	5.31		14.8917
SL	Street Lighting	Connection	kW	4,283		6,754	3.84		22.3336
EMB	Embedded Distributor	Connection	kW	3		23,768	2,243.83		3.8598

Board staff is unable to reconcile the data entered in columns D, E and F to Erie Thames Powerlines' current Board-approved Tariff of Rates and Charges.

- (A) Please provide evidence for the figures entered in columns D, E and F.
- (B) If changes are required, please confirm, and Board staff will update the model with the rates as found in Erie Thames Powerlines' current Tariff of Rates and Charges.

Interrogatory #5 Ref: Tax-Sharing Model, Tab – "Z-Factor Tax Changes"

Summary - Sharing of Tax Change Forecast Amounts		
For the 41558 year, enter any Tax Credits from the Cost of Service Tax Calculation (Positive #)		
1. Tax Related Amounts Forecast from Capital Tax Rate Changes	2012	2014
Taxable Capital		\$ -
Deduction from taxable capital up to \$15,000,000		\$ -
Net Taxable Capital	\$ -	\$ -
Rate	0.000%	0.000%
Ontario Capital Tax (Deductible, not grossed-up)	\$ -	\$ -
2. Tax Related Amounts Forecast from Income Tax Rate Changes	2012	2014
Regulatory Taxable Income	\$ 1,147,934	\$ 1,147,934
Corporate Tax Rate	23.41%	23.45%
Tax Impact	\$ 253,612	\$ 269,203
Grossed-up Tax Amount	\$ 331,121	\$ 351,674

Board staff notes that Erie Thames Powerlines has not entered tax credits of \$20,000 as approved in its previous cost of service rate proceeding (EB-2012-0121). Board staff notes that if the \$20,000 is included, this creates a tax-sharing amount of \$5,574 with \$2,787 (50%) being refunded to ratepayers. Currently,

without the tax-credits entered, Erie Thames Powerlines shows a debit of \$20,553 with \$10,276 (50%) being collected from ratepayers.

- (A) Please confirm if the \$20,000 of tax credits was omitted in error and Board staff will make the necessary corrections to the model.
- (B) If the answer to (A) is no, please provide an explanation for the omission of this amount.

Rate Generator Model

Interrogatory #6 Ref: Rate Generator Model, Tab 4 – "Current Tariff Schedule"

Board staff notes that for all applicable rate classes (i.e. Residential and General Service Less than 50kW), Erie Thames Powerlines has not entered the line item "Rate Rider for Smart Metering Entity Charge – effective until October 31, 2018", with the applicable rate of \$0.79, as found on its current Tariff of Rates and Charges.

- (A) If this line item was omitted in error, please confirm, and Board staff will make the necessary adjustments to the model.
- (B) If the answer to (A) is no, please provide an explanation for the omission of the line item.

Interrogatory #7 Ref: Rate Generator Model, Tab 4 – "Current Tariff Schedule"

MONTHLY RATES AND CHARGES - Regulatory Component

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0012
Standard Supply Service - Administrative Charge (if applicable)	\$	0.25

Board staff notes that Erie Thames Powerlines has incorrectly entered the effective Wholesale Market Service Rate ("WMSR") and Rural Rate Protection Charge ("RRRP"). Board staff notes the applicable WMSR and RRRP, as found on Erie Thames Powerlines' current Tariff of Rates and Charges, is \$0.0044/kWh and \$0.0012/kWh, respectively.

- (A) If Erie Thames Powerlines agrees, please confirm, and Board staff will make the necessary adjustments to the model.
- (B) If the answer to (A) is no, please provide justification for the rates entered.
- (C) Please confirm if, as of May 1, 2013, Erie Thames Powerlines has been effectively charging the updated WMSR and RRRP rates of \$0.0044/kWh and \$0.0012/kWh respectively.

Interrogatory #8 Ref: Rate Generator Model, Tab 4 – "Current Tariff Schedule"

Board staff notes the following inconsistencies entered on tab 4 of the Rate Generator Model when reconciling to Erie Thames Powerlines' current Tariff of Rates and Charges:

- For the GS 50 to 999 kW, GS 1000 to 4999 kW, Large Use, Street Lighting, Sentinel Lighting and Embedded Distributor rate classes, the line item labelled "Rate Rider for Application of Tax Change (2013) – effective until April 30, 2014" has not been entered on tab 4 of the model.
- For the Unmetered Scattered Load rate class, the wording for the line item "Rate Rider for Recovery of Lost Revenue Adjustment Mechanism (LRAM)/Shared Savings Mechanism (SSM) – effective until December 31, 2014 and applicable only in the former service area of West Perth Power" does not reconcile to Erie Thames Powerlines' current Tariff. Board staff believes the line item should be labelled "Rate Rider for Recovery of Lost Revenue Adjustment Mechanism (LRAM)/Shared Savings Mechanism (SSM) – effective until December 31, 2014 and applicable in the service area excluding the former service area of Clinton Power".
- For all rate classes, Board staff is unable to reconcile the Retail Transmission Rates for both Network and Line and Transformation Connection entered on tab 4 of the model to Erie Thames Powerlines' current tariff.
- (A) For each of the above, please confirm if Erie Thames Powerlines agrees, and Board staff will make the necessary adjustments to the model.
- (B) If Erie Thames Powerlines does not agree with one or more of the above, please specify, and provide justification for the data entered.

Interrogatory #9 Ref: Rate Generator Model, Tab 10 – "Other Charges & LF"

Non-Payment of Account

Late Payment – per month	%	1.50
Late Payment – per annum	%	19.56
Collection of account charge - no disconnection - during regular business hours	\$	30.00
Collection of account charge - no disconnection - after regular hours	\$	165.00
Disconnect/Reconnect at meter – during regular hours	\$	65.00
Disconnect/Reconnect at meter – after regular hours	\$	185.00
Disconnect/Reconnect at pole – after regular hours	\$	185.00
Temporary Service – Install & remove – overhead – no transformer	\$	500.00
Temporary Service – Install & remove – underground – no transformer	\$	300.00
Specific Charge for Access to the Power Poles - \$/pole/year	\$	22.35

Board staff notes that the line item highlighted above does not reconcile to Erie Thames Powerlines' current Tariff of Rates and Charges. Board staff notes that the line item on Erie Thames Powerlines' current Tariff is labelled "Disconnect/Reconnect at pole – during regular hours".

- (A) If Erie Thames Powerlines agrees, please confirm and Board staff will update the model.
- (B) If the answer to (A) is no, please provide justification for the wording selected.

Interrogatory #10 Ref: Rate Generator Model, Tab 11 – "Proposed Rates" Ref: Tax-Sharing Model, Tab 6 – "Calc Tax Chg RRider Var"

Rate Class	Total Revenue \$ by Rate Class A	Total Revenue % by Rate Class B = A / \$H	by Rate Class Rate Class		Billed kW E	Distribution Volumetric Rate kWh Rate Rider F = C / D	Distribution Volumetric Rate kW Rate Rider G = C / E
Residential	\$5,695,874	60.56%	\$6,223	147,767,075	0	\$0.0000	
General Service Less Than 50 kW	\$1,161,178	12.35%	\$1,269	50,306,768	0	\$0.0000	
General Service 50 to 999 kW	\$927,192	9.86%	\$1,013	0	227,921		\$0.0044
General Service 1,000 to 4,999 kW	\$590,689	6.28%	\$645	0	96,900		\$0.0067
Large Use	\$407,989	4.34%	\$446	0	160,146		\$0.0028
Unmetered Scattered Load	\$71,551	0.76%	\$78	618,341	0	\$0.0001	
Sentinel Lighting	\$30,676	0.33%	\$34	0	772		\$0.0434
Street Lighting	\$348,202	3.70%	\$380	0	6,754		\$0.0563
Embedded Distributor	\$172,518	1.83%	\$188	0	23,768		\$0.0079
	\$9,405,869	100.00%	\$10,276				

In its Manager's Summary, Erie Thames Powerlines notes that "the tax changes create an increase in costs of \$20,553 with 50% or \$10,276 being absorbed by Erie Thames Powerlines. The resulting volumetric rates generated by the model are immaterial in all rate classes with the exception of the Street and Sentinel Lighting classes as well as the Unmetered class."

Subject to adjustment based on Erie Thames' response to Board staff interrogatory #5, Board staff notes that the rate riders calculated in the Tax-Savings Model, as seen above, are immaterial for only the Residential and General Service Less Than 50 kW rate classes (\$0.0000).

Board staff also notes that Erie Thames Powerlines has only entered the taxsavings rate riders onto tab 10 of its Rate Generator Model for its Street Lighting, Sentinel Lighting and Unmetered Scattered Load rate classes. Board staff notes that Erie Thames Powerlines should either enter all rate riders into the proposed rates tab in the Rate Generator Model or request for the entire tax-savings amount be recorded in Account 1595 for future disposition when sufficient amounts have accumulated.

- (A) Please confirm if Erie Thames Powerlines wishes to dispose of the entire tax-savings amount, and Board staff will update the Rate Generator Model to include all applicable rate riders for all rate classes.
- (B) If the answer to (A) is no, please confirm if Erie Thames Powerlines requests to record the entire tax-savings amount in Account 1595 for future disposition.

Manager's Summary

Interrogatory #11

In its Manager's Summary, Erie Thames Powerlines notes that the 2014 IRM Rate Generator Model calculated the total Group 1 Deferral and Variance account balance to a be a credit of \$2,507,303 which exceeds the Board's disposition threshold. However in reviewing the balances of the Group 1 Accounts Erie Thames Powerlines projects that a disposition of the credit balance at this time would only result in a significant rate increase in 2015. Erie Thames Powerlines also cites the extreme complexity of its current tariff sheet with respect to Deferral and Variance account balances as a further incentive not to dispose of its Group 1 Accounts.

Erie Thames Powerlines proposes that no disposition of any Deferral and Variance amounts be approved at this time, with full disposition of balances until the end of December 2013 to be undertaken in 2014 for 2015 rates. Erie Thames Powerlines anticipates that this amount will be a small recovery of Deferral and Variance amounts from its customers as opposed to the large credit repaid in 2014 and then a large charge to its customers in 2015.

- (A) Please explain the financial analysis undertaken by Erie Thames Powerlines to conclude that if all Deferral and Variance Accounts are disposed of in 2015, the amount would be a small recovery from customers.
- (B) Please explain why Erie Thames Powerlines believes it is appropriate to propose to not refund the amounts owed to customers as opposed to requesting that the current credit amount be spread over a longer time frame (ex. 2 years).
- (C) All else being equal in the current Application, please provide bill impacts representing a one, two and three-year disposition period of the December 31, 2012 Group 1 Account balances.